
jannik

name = “Jannik”
hoere(text)

laura
name = “Laura”
hoere(text)

max
name = “Max”
hoere(text)

anzeige4

text = “...”
aktuallisiere()
gibText()

anzeige6

text = “...”
aktuallisiere()
gibText()

kasse

ticketAusgeben(name,anzahl)
ticketZurueckgeben(name,anzahl)

saal4
plaetze = 300
freiePlaetze = 156
gibFreiePlaetze()
erhoeheFreiePlaetze(anzahl)
erniedrigeFreiePlaetze(anzahl)
gibFilmName()

saal6
plaetze = 500
freiePlaetze = 261
gibFreiePlaetze()
erhoeheFreiePlaetze(anzahl)
erniedrigeFreiePlaetze(anzahl)
gibFilmName()

bean
name = “Mr Bean macht Urlaub”
beginn = “19:45”

gibName()

fluch
name = “Fluch der Karibik”
beginn = “19:30”

gibName()
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kasse
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saal

anzeige

saal

anzeigefilm film
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